UGC NET 2021 Odia

Topic:- GP38_D3_SH2_SET2_A

1) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

student Physics Chemistry Math History | ¢ omputer | Hindi
(100) (100) (100) (50)  [Science (50)| (50)

A 80 76 68 40 36 24

B 90 68 72 2 38 26

C 85 81 75 38 32 31

D 75 79 58 28 28 4

E 45 65 62 31 29 28

F 68 72 68 26 34 30

ARl ot eAreyde ufeu iz 331 uR smenf¥a gest ot IR e :
oflad &t o1 aArevfl A v udlsn & 6 frenfefil grr 6 sicmer - sicrr fawrll 3 yra fbe s1e st @1 yfererd Gar 3

feouvfl : wisow 3 S 91 FwA Y@ fawRr i siferasaer il & an # aara 3

frewr (IR IDIRIT)
siftrcbl | awrel et | o1 | sferr | e fsirer
Rremeff & (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

What is the percentage of total marks obtained by student A?
frenelf A g1 gre by a1g axet siadl @1 yferord aar & ?

[Question ID = 2730][Question Description = S2_qSNz_PG_GP38_Q01]

1. 71

[Option ID = 10917]
2. 74

[Option ID = 10918]
3. 73

[Option ID = 10919]
4. 72

[Option ID = 10920]

2) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)




Physics Chemistry Math History Computer | Hindi
Student
(100) (100) (100) (50) Science (50)| (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

ARl @l eareyde ufeu iz $31 ur snenf¥a ggst o Ia? S :
off<l &t o1 ArRvfl 3 v udlen & 6 ferenfeRil grRI 6 srcmI - srcreI fawril 3 yra fpe s1e sil @ yfererd & 3

feovfl : pisow @ &Y o1 AN Y@ faern d siferoaa il & aR d gara 3

fererr (siferapiferep)
siiferdl | RARIor Ao | @11 | sfert | @aRIe: frstor
Reeneff & (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

What is the difference of percentage in the total marks of students D and E?
fRreneff D 3iiz E @ qger siwol @ yferera 3 fodom siaz 3 ?

[Question ID = 2726][Question Description = S2_qSNz_PG_GP38_Q02]
1. 9.28

[Option ID = 10901]
2. 9.68

[Option ID = 10902]
3. 9.43

[Option ID = 10903]
4. 9.34

[Option ID = 10904]

3) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

student Physics Chemistry Math History | computer | Hindi
(100) (100) (100) (50) |Science (50)| (50)

A 80 76 68 0 ” >

B 90 68 72 42 38 2

C 85 81 75 38 32 31

D 75 79 58 28 28 34

E 45 65 62 31 29 28

F 68 72 68 26 34 30

Arvfl @t earergde ufee iz 33 U smenfa gost ot 3az e



offa & a1$ ARl 3 vas udien 3 6 fenfRi grr 6 3rcmT - sicreT fareril 3 Y fpu 31w 3iwvt @1 yferera & &

feuvfl : wrsow 3 & 91 FwA YA oo i siferasaer sicl & an 3 garar

frewer (SR IDIRIT)
siifrbt | IRl fisar | °fra | sfererer || e fersmor
Rreneff & (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

What is the average marks of students in Physics, Chemistry, and Math?
siiferes forsirel, ARG frsirer 3iiR a1fdTa 3 frenfRil @1 siiera sis @=u 3 ?

[Question ID = 2727][Question Description = S2_qSNz_PG_GP38_Q03]
1. 212.6

[Option ID = 10905]
2. 214.5

[Option ID = 10906]
3. 213.7

[Option ID = 10907]
4. 210.4

[Option ID = 10908]

4) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

Student Physics Chemistry Math History | computer | Hindi
(100) (100) (100) (50) |Science (50)| (50)

A 80 76 68 40 36 24

B 90 68 72 42 38 26

C 85 81 75 38 32 31

D 75 79 58 28 28 34

E 45 65 62 31 29 28

F 68 72 68 26 34 30

ARvfl @l earegde ufeu 3z 33 u? smenfea gest o1 3z difsie @
it €t o1 Aeuft 3 v udlen ¥ 6 frenfRRIl grRrI 6 3rcrer - srereT foreril 3 g Rpw s1w siwl @1 yferora foam 3

feruvfl : wIsow 3 S 91 Jw YA oo 3 siferesaer il & an d aarar

fererr (siférapferap)
siiferbt Rl fasel | 3 | sferRt | Pwie: fase
fRremeff &t (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34




Which student obtained maximum marks?
fopa faremeff of siferasaer i yra fosar ?

[Question ID = 2728][Question Description = S2_qSNz_PG_GP38_Q04]
1. A

[Option ID = 10909]
2. B

[Option ID = 10910]
3. C

[Option ID = 10911]
4. D

[Option ID = 10912]

5) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)

student Physics Chemistry Math History Computer | Hindi
(100) (100) (100) (50) Science (50)| (50)

A 80 76 68 40 36 ”

B 90 68 72 42 38 26

C 85 81 75 38 32 ”

b 75 79 58 28 28 34

E 45 65 62 31 29 28

F 68 72 68 26 34 30

ARl @l eareyde ufeu iz $31 ur snenf¥a gger o Ia? S :
off<l &t o1 ArRvfl 3 v udlen & 6 ferenfRil grRI 6 3rcmI - srcreI fawril 3 gra fpe s1e siwl @ yferer & 3

feauvfl : pIsow @ &Y o1 AN Y@ faern 3 siferoae il & aR d gara 3

fererr (siferapiferep)
siiferdl | RARIGI Ao | @11 | sferr | @awIe: frstor
Reeneff & (50)
(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

Find out the number of students who obtained more than or equal to 60% marks in all subjects?
Jol frenfeRil &6t Fizean sa Hifsre frosior 21eft farerit 3 60% ar 321 sifere sicd yn s ?

[Question ID = 2729][Question Description = S2_qSNz_PG_GP38_Q05]
1. 4

[Option ID = 10913]
2.3

[Option ID = 10914]
3.2

[Option ID = 10915]



4.1
[Option ID = 10916]

Topic:- GP38_D3_SH2_SET2_B

1) The theory of Zone of Proximal Development was proposed by :
Fftuzer famrT a5 Sifal @ Rigia ol foad grr yferarfea fasam sr ?

[Question ID = 2731][Question Description = S2_qSNz_PG_GP38_Q06]
1. Piaget/frmer

[Option ID = 10921]
2. Freud/wrrs

[Option ID = 10922]
3. Vygotsky/arssicidbt

[Option ID = 10923]
4. Bloom/scpg

[Option ID = 10924]

2) In libraries, the process of digitization began with services in the following order :
A. Periodicals and large reference works

B. Cataloguing services

C. Periodical indexing and abstracting services

D. Book publishing

Choose the correct answer from the options given below :

gawIcrIl d fipol Aaisil @ AT YRY Blol Bl 3iifemur &I gicpn o1 foreferiRaa apr 3 :
A. smaftre ufefere sk gad ol arcl orf

B. 3t oo &t Jart

C. smafers ufefesT 3io]apIfvTemT Solloll 3R AR Aard

D. yzaw® @1 ym19rel

il fou s1u frepeul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 2732][Question Description = S2_qSNz_PG_GP38_Q07]
1. A,B,C, D,

[Option ID = 10925]
2. B,C,A,D

[Option ID = 10926]
3. C,B,D, A

[Option ID = 10927]
4. D, A, B, C

[Option ID = 10928]

3) Given below are two statements :

Statement I: Short-term memory encompasses encoding and short-term storage and manipulation.
Statement II: Short-term memory has a limited capacity.

In light of the above statements, choose the most appropriate answer from the options given below
il 3 werel iR sre 3 ¢

el - | srcumifeias IPI Peag Dol iR SCUDIID HSRUT 3R SIS - dis &I fipan @ enfirer ol 3

et - || : srcudiferes Fgfer &t Aifdra grorar 2t 3

IR sl @ 3l 3, ofld v s1e fameul 3 A AT WP IaR DI RI6l HIfSe

[Question ID = 2733][Question Description = S2_qSNz_PG_GP38_Q08]
1. Both Statement | and Statement Il are correct/erer | 3iiz || et 31 &

[Option ID = 10929]
2. Both Statement | and Statement Il are incorrect/@erer | 3z |l Sloil srcte 3

[Option ID = 10930]
3. Statement | is correct but Statement Il is incorrect/emt | 31& 8, fpoqg werer || stera &

[Option ID = 10931]
4. Statement | is incorrect but Statement Il is correct/@emt | s1ci &, fpog et |l @t 8



[Option ID = 10932]

4) Which tools will you use to prepare schedules and class time tables?
A. Microsoft Outlook

B. Trello

C. Google Calendar

D. Tally

E. Koha

Choose the correct answer from the options given below:

PRI iR Bl TR - A0ft B TR B2 AR 31a Biat A FRp=al BT IuReT BIA ?
A. AE@RITTC Pegd

B. ge

C. 3prIcar dervs?

D. ¥cft

E. ot

i fou o1 fyeseul 3 A & IR DI T Hifdru:

[Question ID = 2734][Question Description = S2_qSNz_PG_GP38_Q09]
1. A, B and C only/dac A, B siiz C

[Option ID = 10933]
2. B, Cand D only/a@ae B, C sz D

[Option ID = 10934]
3. C, DandE only/daa C, D afiz E

[Option ID = 10935]
4. A, Cand E only/d@aa A, C 3iz E

[Option ID = 10936]

5) Match List | with List Il

List | List Il

IModel of Teaching Developer

IA. Positive interdependence I. Robert Slavin
B. Structured inquiry Il. Fannie Shaftel
C. Group investigation Ill. Roger Johnson|
D. Role playing IV. John Dewey

Choose the correct answer from the options given below:

et -1 o gl -1l A FART Fie :

et - el -l
(fargror gitser) (Rroorar w201 ardt Rigron)
A, IPRIcHD TRUR forsfaar |. ez Fenfer

B. Jifera gest Il. woft offweer

C. 1315 st Ill. 3otz siforerer

D. sifdrT fordzor IV. sifor feft

oftd v a1e fascul 3 A A&} sar gfere ©

[Question ID = 2735][Question Description = S2_qSNz_PG_GP38_Q10]
1. A-ll,B-1,C-IV,D-Il
[Option ID = 10937]
2. A-1,B-Iv,C-ll,D-llI
[Option ID = 10938]
3. A-IV,B-ll,C-lll,D-I

[Option ID = 10939]
4. A-11,B-I1,C-1,D-IV



[Option ID = 10940]

6) Which one of the following is a non-parametric statistic?
forgoiferRae 3t 2 Blal v 312 - yrafers ARt 3 ?

[Question ID = 2736][Question Description = S2_qSNz_PG_GP38_Q11]
1. F- statistic/F - JiRxrbr

[Option ID = 10941]
2. t - statistic/t - Jifcrbt

[Option ID = 10942]
3. Pearson's correlation/dkrfer @t Ja- ider

[Option ID = 10943]
4. Spearman's correlation/IdRRdel @I 3B - AT

[Option ID = 10944]

7) Given below are two statements :

Statement I: Use of multivariate statistics in social research has increased due to the availability of statistical software.
Statement II: Multivariate statistics are easier to comprehend as compared to the bi-variate statistics.

In light of the above statements, choose the correct answer from the options given below :

il S berel fdu sre 3 ¢

@l - | : AR e i ggar ARRD] BT IuRIPT ARRIDGRI AR Bl IucTetldl D DPRYI §G IR 3

el - || : agar wifisadt, e Aiflcadt &t qeron 3 Aol # RITeT 3

WD Dol @ IMclid 3, ofidl T a1e eyl 3 A W& IR DI TwIel HIfSTY :

[Question ID = 2737][Question Description = S2_qSNz_PG_GP38_Q12]
1. Both Statement | and Statement Il are true/eret | 3iiz || Sloll 3 &

[Option ID = 10945]
2. Both Statement | and Statement Il are false/aeror | iz 1l Qail 3rRIcT &

[Option ID = 10946]
3. Statement | is true but Statement Il is false/@ewer | 311 &, fbog et || R

[Option ID = 10947]
4. Statement | is false but Statement Il is true/@emr | sRIcT 8, fbog werer | 31T &

[Option ID = 10948]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The value of correlation coefficient is in the range of -1 to +1.

Reason R : Correlation between two variables doesn't help in predicting the value of a variable even if we know the value
of another variable.

In light of the above statements, choose the correct answer from the options given below

il St werel fRu s1e 3@ uwap sifdrperet (Assertion A) @ %u 3 iz ¢RI 3> ®RYT (Reason R) & w4 3 :

sifdreperet (A) : ABAEe IVTid BT A6l -1 A +1 D WA D dka 3 drar 3

®RUT (R) : 310 &l TRl & AsAEE A TP AR B Il DI Ydiodiel B! 3 DIF ASRIAI o1l frercdl 3, Al 33l g3 a= @1 FAret uer off a1
SURITP Dol D Il A, ol fGu famcal 3 A 73l 3a= @1 wRIel Hifsrw :

[Question ID = 2738][Question Description = S2_qSNz_PG_GP38_Q13]
1. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @laii 31t 3 32 (R), (A) &t 3 wmen 8

[Option ID = 10949]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3l (R) gleil 311 & wag (R), (A) &t A& areen ot 8

[Option ID = 10950]
3. Ais true but R is false/(A) 3= 3 wog (R) 3RI=I

[Option ID = 10951]
4. Ais false but R is true/(A) sricar 3 uzoq (R) 2 3

[Option ID = 10952]

9) Focus groups as a technique is especially valuable in which of the following scenarios?
A. When the researcher has perfect clarity about the research.
B. For obtaining general background about the topic or issue.

C. For interpreting previously obtained quantitative results.



D. When the researcher is interested in establishing a causal relationship between two variables.
E. For generating a level of understanding about influences in the participants’ world.

Choose the correct answer from the options given below:

forgatferRaa uf¥egl 3 v awolles & wU 3 BieA 3P A9 U A IwRNER 3 @

A. g onterpal ol ofter @ aR 3 ydwuur yusedr 8l

B. iftrep srerar 912 @ € 3 ARIGA HfIDT YA ol

C. gd 3 yra fopu s1e uldamncare uldvimeil &l =msn won

D. i@ onerpdl 3t aRl & dia PRUIcHD el B Fenftra wol &l seaT Radr at

E. yferameft gforen 3 garrdl & A 3 F9rs1 1 IR IcUool Bl

il feu sru faredl 3 A A8 IR DI WRIel B :

[Question ID = 2739][Question Description = S2_qSNz_PG_GP38_Q14]
1. A, B and D only/dae A, B siiz D

[Option ID = 10953]
2. B, CandE only/d@ac B, C 3iiz E

[Option ID = 10954]
3. B, DandE only/aae B, D siz E

[Option ID = 10955]
4. C,DandEonly/aae C, D3l E

[Option ID = 10956]

10) Match List | with List Il

List | List Il

Statistical TermsDescription

IA. Nominal I. Spread in values of data|
B. Ordinal Il. Expected value

C. Mean |III. Ranking

D. Variance |IV. Categorization

Choose the correct answer from the options given below:

et -1 Y el -1l A AR Hifre ;

el -1 el Il
(iRl ) (crofor)

A, orfdrea |. ca @ el A Berra
B. @fdra Il. genfdra aret

C. afrera . ¥Rt

D. gzrrur |IV. Aaeffwor

oftd R a1e fascul 3 A A&l 3= gfere ©

[Question ID = 2740][Question Description = S2_qSNz_PG_GP38_Q15]
1. A-Il,B-IV,C-lll,D-I

[Option ID = 10957]
2. A-IV,B-ll, C-Il,D-l

[Option ID = 10958]
3. A, B-1,C-IV,D-Il

[Option ID = 10959]
4. A-1,B-Il,C-IV,D-l

[Option ID = 10960]

11) In non-verbal communication, ‘Chronemics’ refers to:

3r-onficas Fguvr 3 ‘BT Rt el 3 ?

[Question ID = 2741][Question Description = S2_qSNz_PG_GP38_Q16]
1. Time/wr

[Option ID = 10961]
2. Place/zemst

[Option ID = 10962]
3. Space/smrror

[Option ID = 10963]
4. Person/=iafep



[Option ID = 10964]

12) In communication, semantic barrier refers to :
AT 3, grecrel aren fopeRY Hdfea 3 ?

[Question ID = 2742][Question Description = S2_qSNz_PG_GP38_Q17]
1. Denotative meaning/#emef

[Option ID = 10965]
2. Varied connotations/feferer igepref

[Option ID = 10966]
3. Truth/acx

[Option ID = 10967]
4. Singular meaning/vdpet aref arem

[Option ID = 10968]

13) A leave application from a clerk to the principal of the institution, is an example of :
T ATl D YLIGrRt dI U feiftiad A Y ra19l ol Yreforrudg i1 AYuuT &1 3c16v1 8 ?

[Question ID = 2743][Question Description = S2_qSNz_PG_GP38_Q18]
1. Downward communication/stelgdl Yot

[Option ID = 10969]
2. Upward communication/3edgedt iuur

[Option ID = 10970]
3. Horizontal communication/giferst iuur

[Option ID = 10971]
4. General communication/meireer Jwor

[Option ID = 10972]

14) In which one of the following types of communication, the client initiates a transaction by requesting information from

a server?
AYYUT B _ 3 YR A T AR A oIl YId Dol Dl ABT GRI Adrell JRIasR YR ol 3

[Question ID = 2744][Question Description = S2_qSNz_PG_GP38_Q19]
1. Education Technology/fdtgm gienfsrcbr

[Option ID = 10973]
2. Pull Technology/yet gienfdrbt

[Option ID = 10974]
3. Ancient Technology/yrfter gienifsreht

[Option ID = 10975]
4. Push Technology/gor gienfarcbr

[Option ID = 10976]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Being judgemental on the part of a teacher is a barrier to communication.

Reason R: For effective learning outcomes, the teacher should expose the ignorance of students.

In light of the above statements, choose the correct answer from the options given below :

ofld 3l Berel fRu s1e 3@ uep sifdraperst (Assertion A) @ a3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :

sifdrperet (A) : 181 &6l T% A IR oIl Aloll AYWUT I Tp aren 3

@rur (R) : gaird siffera ufyvimer o fore Rigie o fenfRi & ISy @Y yase wen aifde

JRITP Peall D 3Mrelid #, offd fBu fasedl 3 A A8 Ia= &1 TRIet Hifste :

[Question ID = 2745][Question Description = S2_qSNz_PG_GP38_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) iz (R) Glali 31 3 3R (R), (A) &t 3 =Rz &

[Option ID = 10977]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3liz (R) Glell 31 & woq (R), (A) &I 3 e ot &

[Option ID = 10978]
3. Ais true but R is false/(A) 3= &, wog (R) sRI= 3

[Option ID = 10979]
4. Ais false but R is true/(A) sric 8, wog (R) A= 3

[Option ID = 10980]

16) In the series 358, 364, 370, _ _ _ , what will be the 12t term?



ojzerr 358, 364, 370, - - -, 3 12 ai ug a=m P ?

[Question ID = 2746][Question Description = S2_qSNz_PG_GP38_Q21]
1. 420

[Option ID = 10981]
2. 424

[Option ID = 10982]
3. 428

[Option ID = 10983]
4. 432

[Option ID = 10984]

17) Given below are two statements :

Statement I: An item is sold for 145 at a loss of 20%. The cost price of the item is ¥185.
Statement II: The average of first 30 natural numbers is 15.5.

In light of the above statements, choose the correct answer from the options given below
il S werel fdu sre 3 ¢

®eel - | : uas avg 20% 6 sifer 1R 145 . d FA et 3 avg b1 1 o 185 . 3

@eret - |l : geer 30 gropfere Fzsmsii ot siiera 15.5 alar 3

SWRI Deell d 3rclld 3, offd fu sre fameul 3 A 8l IR @I w6t HIRIE

[Question ID = 2747][Question Description = S2_qSNz_PG_GP38_Q22]
1. Both Statement | and Statement Il are true/erat | 3iiz || Steil Jcer &

[Option ID = 10985]
2. Both Statement | and Statement Il are false/aerer | iz || Sloil sricer &

[Option ID = 10986]
3. Statement | is true but Statement Il is false/@ermer | a1 8, fpog e || 3R 8

[Option ID = 10987]
4. Statement | is false but Statement Il is true/memt | sric 8, fbog wewer || =1 &

[Option ID = 10988]

18) Consider the following fractions:

A. 11/17

B. 5/6

C. 2/3

D. 4/11

E. 6/11

Choose the correct answer from the options given below
forgaifeiRaa freell o= R Hifsre @

A. 11/17

B. 5/6

C.2/3

D. 4/11

E. 6/11

forgarferi¥aa 3 wlol AT SGar g3 A3l GIDA & 7

[Question ID = 2748][Question Description = S2_qSNz_PG_GP38_Q23]
1. D<E<A<C<B

[Option ID = 10989]
2. D<A<E<B<C

[Option ID = 10990]
3. D<B<C<E<A

[Option ID = 10991]
4. A<D<C<B<E

[Option ID = 10992]

19) The angle made by the minute hand of a clock while moving from 3:45 pm to 6pm is :



uop i a3l 3 Beic B JF SRI uRtE 3:45 o1 A 3MaR1E 6 F6t D 31 SIA RI FoIRI STTol dIcll DIV 3IdTl 3 &

[Question ID = 2749][Question Description = S2_qSNz_PG_GP38_Q24]
1. 540°

[Option ID = 10993]
2. 740°

[Option ID = 10994]
3. 810°

[Option ID = 10995]
4. 510°

[Option ID = 10996]

20) Four bells begin to toll together and then toll at intervals of 3, 5, 7 and 10 seconds respectively. They will toll together
next after :

arR Hfedl v AT Fetoll YR 3Iell 3 3R fibz @ @arer: 3, 5, 7 3ii 10 ADUS B 3icaRIcl UR Sl & d MU 3 T ATA Yol: fobdal ADUs a5
qoplt ?

[Question ID = 2750][Question Description = S2_qSNz_PG_GP38_Q25]
1. 840 seconds/840 Jdus

[Option ID = 10997]
2. 480 seconds/480 Jadus

[Option ID = 10998]
3. 210 seconds/210 Aadus

[Option ID = 10999]
4. 240 seconds/240 Jdvs

[Option ID = 11000]

21) Which of the following statements correctly apply to inductive arguments?
A. They are neither conclusively valid nor invalid.

B. Adding new premises makes no difference to the argument.

C. Adding new premises may strengthen/weaken the argument.

D. Conclusion follows from premises with absolute necessity.

Choose the correct answer from the options given below:

IPHGIcAD dddral UR forgsifciRaa 3 A dlol A el A8t D A Py 3id 3 ?
A. a o a1 siferr g A qe 8 i ot s Qe 3

B. oIu smen=ara=t ®l 9nfred ol A ABATTRT U BIS JId ofdl usdl 3

C. oTU smemRara=I ot onfirel ool A awara ARD / giel 8l Jdar 3

D. forUel smagacar arel nerRaras A forsapd formerd &

il fou o1 fraseul 3 3 I IR BT TI6Tl HIfSIE :

[Question ID = 2751][Question Description = S2_qSNz_PG_GP38_Q26]
1. Aand D only/@aet A siiz D

[Option ID = 11001]
2. Aand Conly/@aet A siiz C

[Option ID = 11002]
3. B and D only/daet B 3iiz D

[Option ID = 11003]
4. A and B only/d>aet A siiz B

[Option ID = 11004]

22) Match List | with List Il

List | List Il

In Square of opposition Resultant propositions

IA. If 'No stars are Dull' is True I. 'E' and 'I' are Undetermined
B. If ‘'some flowers are fragrant’ is True Il. 'E" is False and 'I' is True

C. If 'All sweets are sugary' is True |III. ‘A" and 'O’ are Undetermined,
D. If 'some animals are not mammals' is True|IV. ‘A’ is False; 'O' is True

Choose the correct answer from the options given below:
It -1 oot gt -1l 2 Fafera Hifsie :

I&iﬁ-l }Igff -l




(forYer - arqeey 3 ) (afsvmmsht serRmard)

A, afe "®rE ar wifcrdior oél &' AT 3 I. 'E’ sz 'I' siforfdrer &

B. Afe '@ Ber WYGR & A & Il. 'E' srrca 3 3R 'I' e 3
C. afe "w19ft Brors=f <ioft archt 3" a1 3 Ill. "A" 3fiz 'O" aiferfaa 3

D. afd '@o Sierar Faeiemt ol 3 AT & IV. 'A’ sraca 3, 3iir ‘0" I 3

offa 3w a1w faepeul 3 3 A1) 3a= gfero :

[Question ID = 2752][Question Description = S2_qSNz_PG_GP38_Q27]
1. A-IV,B-lll,C-ll,D-l

[Option ID = 11005]
2. A-ll,B-Il,C-IV,D-l

[Option ID = 11006]
3. A-Il,B-IV,C-l,D-l

[Option ID = 11007]
4. A-1,B-Il,C-lll,D-IV

[Option ID = 11008]

23) Identify the fallacy committed in the argument.

All men who understand women are potentially perfect husbands.

All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women.
33 AGAIT I Y Dl gaIsT ©

Wil g Sil Al o AASIA & d Aad: 9Ycs ufer Bid

it Jsraa: 9vo ufer sRfifdra &R arcr a3

safere, o sriifda &R arct gey d gwy & Sl Afdar o weseT &

[Question ID = 2753][Question Description = S2_qSNz_PG_GP38_Q28]
1. Fallacy of Illicit Major/sreard - Jreer - g

[Option ID = 11009]
2. Fallacy of Illicit Minor/smear - uet - giw

[Option ID = 11010]
3. Existential fallacy/si¥dacafio)s - gra

[Option ID = 11011]
4. Fallacy of Undistributed Middle/sreama - 3 - giw

[Option ID = 11012]

24) In the Nyaya system, what is an inference called when it is based in its middle term being only positively related to the

major term?

IRl Brgia 3, ddel ATEA Uc A A9 WU i Al Slol 3 loldHTol DI aRII D3l Sl & Sid AT 3AD g US UR MMenfad aler 3

[Question ID = 2754][Question Description = S2_qSNz_PG_GP38_Q29]
1. Kevatarvayi/@dqcisoaeit

[Option ID = 11013]
2. Kevala-vyatireki/dact - cafeRdr

[Option ID = 11014]
3. Anvaya-vyatireki/seazn - cifeRdt

[Option ID = 11015]
4. Vyatirekanvayi/cafeR®roai

[Option ID = 11016]

25) Given below are two statements :

Statement I: In the Nyaya system of inference, the major term (sadhya) can exist without the middle term (hetu).

Statement Il: According to the Nyaya system, the middle term (hetu) cannot exist without the major term (sadhya).

In light of the above statements, choose the correct answer from the options given below

oflar S averet feu s1e 3 ¢

@t - | elHTel & AR Rigia & amew - ug 3q - ug & fon sif¥dacaaret 3t Awar 8
@ - |l : GarI Rigia @ 3eRIR 3q-us A1eA-uc @ et siRacaare o8l ¥ Awdar 3
W Dol @ 3Mrciid 3, ofidl fu a1e eyl 3 3 A& IR DI Twel HIfSIY :



[Question ID = 2755][Question Description = S2_qSNz_PG_GP38_Q30]
1. Both Statement | and Statement Il are true/erer | 3iiz || Steil Jeer &

[Option ID = 11017]
2. Both Statement | and Statement Il are false/a@erer | iz || Gloil sricT &

[Option ID = 11018]
3. Statement | is true but Statement Il is false/@err | 311 8, fbog @t || sric &

[Option ID = 11019]
4. Statement | is false but Statement Il is true/mermt | spic 8, fbog wer || 1 &

[Option ID = 11020]

26) Bluetooth is :

SICA B -
[Question ID = 2756][Question Description = S2_qSNz_PG_GP38_Q31]
1. Wireless LAN protocol/arReRt uel & wol Yictaict

[Option ID = 11021]
2. Short-range data transmission protocol/ecrg 31 STeT YARvI Gictaict

[Option ID = 11022]
3. Interoperability protocol/stsa: yarerofter gictaster

[Option ID = 11023]
4. Peer-to-peer networking protocol/Js@sft (dRR) 3 J#ADsl (dRR) oleafessr Yicimict

[Option ID = 11024]

27) What is Pixel density?
fora=Ye #olca a=1r & ?

[Question ID = 2757][Question Description = S2_qSNz_PG_GP38_Q32]
1. Number of pixels per column and per row on a monitor/ue sifeficz Uz yfer wicwr 3l yfer ufep fuaRicat 6t =

[Option ID = 11025]
2. Number of pixels per square centimetre/yferast 3icisfic faicat &t =n

[Option ID = 11026]
3. Number of pixels that make up an image/ftaR¥cr &t 3z st fop i) P gotrae 3 ggep 8t

[Option ID = 11027]
4. Number of horizontal and vertical pixels that make up a screen display/éifert 3iiz Htafer faicar B 3 it &6 FHter 33t 6 Totrac 3 GIb at

[Option ID = 11028]

28) Given below are two statements: regarding the JPEG file (Joint Photographic Experts Group) :
Statement I: JPEG files use a lossy format file compression method.

Statement II: JPEG is used to store photographs as a reduced file size.

In light of the above statements, choose the correct answer from the options given below

JPEG (sarse wIdpifbe uaud A30g) @ aR 3 ofld ol bere e s 3 :

@l - | : JPEG wsca # g yfersu wisa Jdlisa fafer o1 su=ier aiar 3

@l - |l : JPEG @I SuNST @dl fbT 318 BIsel DR @ WU A BIARIG! @ %ol 3 gldar &

SR el d 3irclld 3, ol fu sre fmeul 3 A 78l IR @I w6l BRI

[Question ID = 2758][Question Description = S2_qSNz_PG_GP38_Q33]
1. Both Statement | and Statement Il are true/em | 3i || Sloli 31T &

[Option ID = 11029]
2. Both Statement | and Statement Il are false/a@erer | 3iiz || Sloil sRicr &

[Option ID = 11030]
3. Statement | is true but Statement Il is false /et | 31 8, fbog et || sricr &

[Option ID = 11031]
4. Statement | is false but Statement Il is true/memt | spicI 8, fbog wewer || 1 &

[Option ID = 11032]

29) Which of the following statements are correct regarding Random Access Memory (RAM)?
A. It is an internal chip where data is temporarily stored

B. It stores the part of operating system currently in use

C. It is used to store the BIOS

D. It is non-volatile memory



Choose the correct answer from the options given below:

I0sH VR AABI (IR € w) @ aR I forcfeilRaa o due 3 18l P @I gferu :
A. a5 oo 3iifed Ria 3t 3 Br1al stet ot srearft wu A sisifya fopar sirar 3

B. s aciarrer 3 SURIIGT 31 38 MUREsT R1zed @ T &I $SR B 3

C. 3aT IueT &l 3E 3l UA D SR 3 BT &

D. 2z 312 - chiuoflar (dAlcterser) A 3

il f3u a1 fraseul 3 A A IR BT TRl HIdIE ©

[Question ID = 2759][Question Description = S2_qSNz_PG_GP38_Q34]
1. A, Band C only/a@ae A, B siiz C

[Option ID = 11033]
2. Cand D only/daet C 3iiz D

[Option ID = 11034]
3. Aand B only/dact A siiz B

[Option ID = 11035]
4. A, Cand D only/@qe A, C 3k D

[Option ID = 11036]

30) Match List | with List Il

List | List 1l

Type of Software Example

IA. Word Processor |[l. Mac

B. Database Il. Open-office

C. Operating system IIII. Oracle

D. Utilities IIV. Anti-virus

Choose the correct answer from the options given below:

xeht -1 Bt 2l -1l A AR Hifre ;

el -1 el -1l
(2liTcdR @ yoR) (3c18201)

A. o gidrer I. v @ 2t

B. steraa Il. 3irer - siifsar
C. siicfésr Rrecar . sifvaer

D. gdfiRa IV. vt - arere

oftd v s1e fscul 3 3 A1) 3= gfere ©

[Question ID = 2760][Question Description = S2_qSNz_PG_GP38_Q35]
1. A-1,B-ll,C-lll,D-IV

[Option ID = 11037]
2. A-Il,B-ll,C-1,D-IV

[Option ID = 11038]
3. A-lll,B-II,C-l,D-IV

[Option ID = 11039]
4. A-IV,B-lll,C-l,D-I

[Option ID = 11040]

31) India's national-level forest policy dates back to :
HRA I ASERT TR B dot ofifer w1 feifdr forerfzor wa @1 3?7

[Question ID = 2761][Question Description = S2_qSNz_PG_GP38_Q36]
1. 1894

[Option ID = 11041]
2. 1952

[Option ID = 11042]
3. 1988

[Option ID = 11043]
4. 1994

[Option ID = 11044]

32) Given below are two statements :

Statement I: Amorphous silicon is highly light absorbing material.



Statement II: Amorphous silicon is not suitable material for solar cell development due to its non-crystal properties

In light of the above statements, choose the correct answer from the options given below

il 3 werel fRu sre 3 ¢

@erol - | : sifdpreciikn Riftidiel Sca ¥az @ Y19l sraolud AL 3

@erl - |l : sifdpeectiar Riferoior sa1dd 31z - fogzed aprenit & oRuI AR Ad & f[orRT D e SWI ARR] bl 3
IWRITH Dercll @ 3Mrelid 3, ofld v s1u faeul 3 2 7El IR @1 et B ©

[Question ID = 2762][Question Description = S2_qSNz_PG_GP38_Q37]

1.

Both Statement | and Statement Il are true/werer | iz || Sloil 31 3

[Option ID = 11045]
Both Statement | and Statement Il are false/@erer | 3fiz |1 Sloil 3wt &

[Option ID = 11046]
Statement | is true but Statement Il is false/wepol | 31 &, fbog weel |l 3R &

[Option ID = 11047]

. Statement | is false but Statement Il is true/weer | sRIcI &, fboq et |l 3T 8

[Option ID = 11048]

33) Which one of the following has, both positive and negative radiative forcing in the climate?

forrarferRaa 3 21 Pl A Tb D SIcMAR] (AcIsAC) A LolcAD 3R YUICHD Sloll AUS:Aefeeda a1 urn sirar 3 ?

[Question ID = 2763][Question Description = S2_qSNz_PG_GP38_Q38]

1.

CO7 (Carbon dioxide)/CO; (wrdat Si sa=ss)
[Option ID = 11049]

. CH4 (Methane)/CH4 (3ftder)

[Option ID = 11050]

. NO; (Nitrogen dioxide)/NO; (cisdisier SIE siiaR1ss)

[Option ID = 11051]

. 03 (Ozone)/03 (3isiter)

[Option ID = 11052]

34) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Lockdown in 2020 in India was imposed under the Disaster Management Act

Reason R: COVID 19 is the first pan-India biological disaster being handled under the Disaster Management Act

In light of the above statements, choose the correct answer from the options given below :

il St werel 3w s1e 3@ uwap sifdraperet (Assertion A) @ %u 3 iz ¢RI 3Ad> ®RYT (Reason R) & w4 3 :

aifdreperet (A) : sira 3 2020 i clfpsiSol MUcT Yeerel if2fora @ sidsid coImRn SR o

@Rl (R) : 3mucr gderot if2iforEr o sidsia el Siel arell aifds - 19 yerer Agul sira Faz oI Sifae smucr @

SURITP Doil D 3l A, ofld fGu famcal 3 A 73l 3a= &1 wRIel Hifere :

[Question ID = 2764][Question Description = S2_qSNz_PG_GP38_Q39]
1.

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) clail 3 & 3iiz (R), (A) 6l 48 e 3

[Option ID = 11053]
Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) gl 31 8 wesg (R), (A) 6t A& e ol 8

[Option ID = 11054]

. Ais true but R is false/(A) 3= 3, u3sqg (R) 3 3

[Option ID = 11055]

. Ais false but R is true/(A) sricx 3, u2og (R) e 3

[Option ID = 11056]

35) The faintest detectable noise by a healthy human ear is of :
U Faxe Hlold @ Plel DI HUIdd a2 U del Ural dicil 3irarst fbdaal 3R31ac &l 2l 8 ?

[Question ID = 2765][Question Description = S2_qSNz_PG_GP38_Q40]
1.

0dB
[Option ID = 11057]

. 1dB

[Option ID = 11058]

. 10dB

[Option ID = 11059]

. 20dB



[Option ID = 11060]

36) The time gap between two sessions of the Parliament should not exceed :
G D QY AG) D dia AIRA oaRIe $AA 3UfAUD oISl Bor AT :

[Question ID = 2766][Question Description = S2_qSNz_PG_GP38_Q41]
1. 3 months/3 s&ior

[Option ID = 11061]
2. 5 months/5 #idlor

[Option ID = 11062]
3. 6 months/6 #dlor

[Option ID = 11063]
4. 12 months/12 sdlot

[Option ID = 11064]

37) Uin AYUSH stands for :
IRIY (Q aré Y oA wa) A U Adfea 3 :

[Question ID = 2767][Question Description = S2_qSNz_PG_GP38_Q42]
1. Urban/smdat

[Option ID = 11065]
2. Universal/gforazfer

[Option ID = 11066]
3. University/gforaf3ict

[Option ID = 11067]
4. Unani/goimoft

[Option ID = 11068]

38) Inter University Board set up in 1928 to promote University activities by sharing information and co-operation in the
field of education, culture, sports and allied areas is now known as :

3R - Rreafdenert dIS oI 31601 1928 3 SIeIdR] AT @l 3R 9181, Avmie, e 3l Hdfe@ Siql 3 AseT gRI faeafdencrr &t sifefaferi
@I YIcA1sal Sol 3d fovar srir 337 319 b ol A Sireln Siren 8 ?

[Question ID = 2768][Question Description = S2_qSNz_PG_GP38_Q43]
1. Association of Indian Universities/smaciter feafdermcrr e

[Option ID = 11069]
2. Central Board of Secondary Educators/@g sieaifdres forgm ars

[Option ID = 11070]
3. Central Advisory Board on Education/@dkr forgn JciizdrR dis

[Option ID = 11071]
4. University Grants Commission/fdeafdererr siojcrol 3MRisT

[Option ID = 11072]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Government is preparing high quality bilingual textbooks and teaching-learning material for science and
mathematics to enable students to think and speak about the two subjects in their home-language/mother tongue and in

English.
Reason R: Government should promote all regional languages

In light of the above statements, choose the most appropriate answer from the options given below :

il €1 ool feu arw 3 1 uop sifdraperat (Assertion A) @ wu 3 3R gIRI 3AD BRIl (Reason R) & u 3 :

sifdrperet (A) @ IRDR Id IuTad drcll fardl urger gzad iR fastmet siiz s1fdra & fere fargivr sif2enr AeE) ot foriivr war & 3 RRRI 6
fremeff Sell Rl & arR 3 srucfl Fermeiir sirem / Argsimen iR 3iE)sh simar 3 Aol sii? dierol Ao A AD

®RYI (R) : IRBR @I il eI HrIsil o1 Qicnfda mon aifdu
JURITH Beloll B 3MIelid 3, ofil fGu faapeul 3 2 7 IR BT TR DI

[Question ID = 2769][Question Description = S2_qSNz_PG_GP38_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail 3@t 3 3z (R), (A) &t 36 cimen 8

[Option ID = 11073]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) @il 3 8 u¥sq (R), (A) 6t 3d e o1t

[Option ID = 11074]
3. Alis correct but R is not correct/(A) 3@ & ussq (R) 3@t oidt &



[Option ID = 11075]
4. Ais not correct but R is correct/(A) @ ot 8 wog (R) 1t 2

[Option ID = 11076]

40) Given below are two statements :
Statement I: Values are an enduring belief about the way things should be done or about the ends we desire

Statement II: The values we form are influenced by our circumstances families, friends, age, gender, environment,
tradition and culture

In light of the above statements, choose the most appropriate answer from the options given below :

il ol el fdu sre 3 ¢

@Yol - | : Jeu disll DI A WU 3 f[oar Stron a1fde IAD a1 3 rerar qifesd 3E9AT & aR 3 v FARM Ad &

Do - || : Bra1 el @1 fotivr &1 w=a & d sarl ufelRaferil, ufkari, Bgl, 39, eI, vafarur, uuer iR Jzafa g ganfaa aia 8
SRS DUsll B IIElIPD 3, ofil U 31w frapeul 3 A ABI IR DI TRIol DHIfTT

[Question ID = 2770][Question Description = S2_qSNz_PG_GP38_Q45]
1. Both Statement | and Statement Il are correct/aerat | 3iiz || Sl &8t &

[Option ID = 11077]
2. Both Statement | and Statement Il are incorrect/@erwr | 3iiz || Sloil stctd 3
[Option ID = 11078]
3. Statement | is correct but Statement Il is incorrect/mert | 3@t 8, fboq el |l s &

[Option ID = 11079]
4. Statement | is incorrect but Statement Il is correct/@ert | srera 8, fpog weret || 31t &

[Option ID = 11080]

Topic:- GP38_D3_SH2_SET2_C

1) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those enormous creatures of the sea
which are the largest remaining animals in the world. To protect the whale from the cold of the Arctic seas, nature has provided it with a thick covering of
fat called blubber. When the whale is killed, the blubber is stripped off and boiled down. It produces a great quantity of oil which can be made into food
for human consumption. A few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick

children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may be made from the oils of

certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to oil s/he almost always means
mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel locomotives; the oil that is used to lubricate all kinds of machinery.
This is the oil that has changed the life of the common man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we
owe the existence of motor car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and in some ways, it is superior to
coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is used for illumination; countless homes are still illuminated

with oil-burning lamps. Because it is very slippery, it is used for lubrication.
offa fSu srerior @ ufgu 3iiz gest o1 3= v @

A1 @ ofiot yg@ AdE T : SIoraR, gerrufe, 3 Wforsr SieraRl A gra ol aret der b &St Ay o3ar A grd Bl 3 St b A1dgg B farener Sfta 3 st g & T &3 3R ard aA ge
SIoIaR 8 B WG BI AfSAl A et B R8N Bl D fore yapfer of 331 a=edl Bél S0l arefl 911 A D g8 U Yglol oI 3 SId o3el el 3, ad a=dl @l forpIerd: 3A IdreT
3 3 us da B g3t AT DY 3cuoal Bkl F BRI Aot Iusiler & fére warer ucrel SoIRI ST AGAT 3 BB A PIORIT A Aet foraen sirar 3 Aftber s3ar & Krden R siowr A o1dY
e Al s T Adxd 30 cflae amd el AR sl iR 3o g coll @) fred @w foifdia fareifitor & smraearaar Bl 81, Jorl 0w sma 3

dorufer del @ aR 3 YKol et A Siererl 3 ol spezer @1 sa® fen @19 o1dl @crar; safee e 531 siisiel dotrol 3 YRIed b= Sirer & uRuRggn @o forfaa well A formrex
31Q el A Jol 3 ADA 3 ATl TolFufer 32 Sierar] d et A Folle SN 3

T ATRIRI IGHL @ g, dcd D v YdR g @ S #Ascayul 81 Awmd 3 afivel Sia IAsToldn srerdr $Siforr fipfl der A Jder xaa 3 dl Sorm1 ifrmierd: arcuwl wforst der A dar
3 ; as da Sit 5 Tol, sard swemEl AR g didl, Ale? BRI AR Serer dielefea o) Faifera war 3; as de sit Asft yor & Afiell D fore Folew & dik W gges 3T 3 A8 daT
fSrT61 3imar sncaft B Sftact B acer R 3 S1@ 34 Utar @ Hu A ufkenfea e siar 3 aa 33 $stal @ sfoal¥ad caol D Adreral A Yo o sear 3 339D e AeIdR D Blot D
gfespull 3, Rrior 81t 3 A Skl stetarcll AsPEIst o girenfia o2 Rar @ o Ssweil & gfeseoft 3 5310 Feore, Adg 3R arg A oS el ardl g D askaol o aca R 3 sa
YR @1 A StHflel D il 3 formren siar 3 oI A6 sl avs <&l Blal 8, $AfRIT sADT YRIeT $erel d HU A SIaI 3 3R $ADI asie A 5 sl I U6 DRI A JsaA Al SITAT
¥ dgd A 93 SIBe A DRIcl dl SP1E el DY $86I D diz U SR A O & RIS A8 aAmeR adid A SIArdI 8, A8 YDII dol D fore IuRiler Sl 3 sroifdrord wri 3 anfl off et
A Sictal arel g A A9rohl grd 3kl ¥ il a6 3iferes fsActor arer 3, sARIT $ADT IUNGT Tolew B BU 3 BT 3

Vegetable oil is/was :
qorufer ol @ anR 3 :

[Question ID = 2771][Question Description = S2_qSNz_PG_GP38_Q46]
1. Known to people since ages/cliell @l ol 3 Ul &

[Option ID = 11081]



2. Unknown in ancient times/yfter wret 3t srstre em

[Option ID = 11082]
3. Known only in the old days/daet yrefter 3T 3t & uar ex

[Option ID = 11083]
4. Known only to old people/ddact yRio! sl @ &t uar 8

[Option ID = 11084]

2) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

ofla f3u arerior ol ufgu 3iir gest o1 3= v @

et @ ol Y A3 3 © SlelaR, dolule], 3R Fforsl SieiaR] A YId lol ardl del Pl aSt A o3l A Y il 3 Sil b g @ frene Sfia 3 =it
fora @ AR &3 3IPR arcl &< 3¢ SIelaR 8 3MIDICd G DI AL A el DI RGN Dol D 18 Ymier of 31 TRel D3l Sirel arcil a1 A G ge
Ud YgTal fopn & S1d oael ¢l 8, ad IRdl DI foIdpIcid 3 IdIeT S & A Il DI SIS A DI IcUool Dl & PRI Aeia IuieT & e rer
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According to the author, whales are:
D D IAAR, &I 8 ©

[Question ID = 2772][Question Description = S2_qSNz_PG_GP38_Q47]
1. The largest animals that have ever lived in the world/z3 &St Sieraz Sit forea 3 adton 3 ast & &

[Option ID = 11085]

2. The largest animal living in contemporary times/mipIctior 2RI 3 Sifdd ARt st SoraR &
[Option ID = 11086]

3. The largest reptile/3e=t a3t 23m

[Option ID = 11087]
4. The largest animal living in Caspian Sea/®RwIer e 9 Sifdd et gt smoraz

[Option ID = 11088]

3) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.



Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.
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Which one of the following is NOT one of the three main purposes for which mineral oil is used?
forgsifer3aa 3 wiol AT b cilol F3=T 39l 3 A o1dl 3 Prad ferg wforst Aer @I IuRMeI fep=r sirar 3 ?

[Question ID = 2773][Question Description = S2_qSNz_PG_GP38_Q48]
1. For lighting/ydluer & fere
[Option ID = 11089]
2. As fuel for motors/d#iicz @ fere Serora »u 3
[Option ID = 11090]
3. As an economic power/siféfe oifeb @ 3u 3

[Option ID = 11091]
4. As lubricant/oE® @ >0 3

[Option ID = 11092]

4) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.
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"No household can get on without vegetable oil, for it is used in cooking”, means:
"fpfl spe¥er @1 dorrufer et O ool BRI oIl actar aRIifs DT YRIST Hisiol dollol 3 BT 3" AT areu:t 3 :

[Question ID = 2774][Question Description = S2_qSNz_PG_GP38_Q49]
1. Households and vegetables oil cannot get on with each other/srs=er siiz dorufer Tt sfoer GR @ el oIdl et AT

[Option ID = 11093]
2. Households can manage without oil/saer cilsit @ w1 el el @ et A &
[Option ID = 11094]
3. Oil is an essential ingredient in cooking, so households need it /et $iiStor Gotrol 3 SMAYRID® IIARIT & SARCTE F[GIell B FIDI SMARIDBAT Bldl 3

[Option ID = 11095]
4. Households can get on with cooking without vegetable oil/s[aze el doreufer det arel olistol @ A I ADd 3

[Option ID = 11096]

5) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.
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Oil-burning lamps:
oIt A SIcTol drcl a1y :

[Question ID = 2775][Question Description = S2_qSNz_PG_GP38_Q50]
1. Are used in more and more homes nowadays/ arsflsit siférp 3 aiférd @RI 3 Y 8l &

[Option ID = 11097]
2. Are not used at all/ 3@ gy otal ier 3

[Option ID = 11098]
3. Burn more brightly than any other kind of lamp/3ieeI yoR & ¢fu 3 3ifels derpaeR a3t A Skekdl 3

[Option ID = 11099]
4. Are used by a large number of people, although not so many as previously/siféib 31 3 clisll GRI YIh aldI 3, MEfl usel d fSidell 3iferd 18l 3uRilel Bl &

[Option ID = 11100]
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[Question ID = 3316][Question Description = Q01_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13261]
2. 2 [Option ID = 13262]
3. 3 [Option ID = 13263]
4. 4 [Option ID = 13264]
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[Question ID = 3317][Question Description = Q02_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13265]
2. 2 [Option ID = 13266]
3. 3 [Option ID = 13267]
4. 4 [Option ID = 13268]
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[Question ID = 3318][Question Description = Q03_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13269]
2. 2 [Option ID = 13270]
3. 3 [Option ID = 13271]
4. 4 [Option ID = 13272]
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[Question ID = 3319][Question Description = Q04_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13273]
2. 2 [Option ID = 13274]
3. 3 [Option ID = 13275]
4. 4 [Option ID = 13276]

5)
FIoia deerIes §8-661d1 6gaaa6a Q1 Kol 626 QI @alleg ?

(1) edeed @) aaael



(3)  QuEeel (4) aedyaEc

[Question ID = 3320][Question Description = Q05_Oriya_SHAAN_5DEC_S1_Shift1]

1. 1 [Option ID = 13277]
2. 2 [Option ID = 13278]
3. 3 [Option ID = 13279]
4. 4 [Option ID = 13280]
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[Question ID = 3321][Question Description = Q06_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13281]
2. 2 [Option ID = 13282]
3. 3 [Option ID = 13283]
4. 4 [Option ID = 13284]
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[Question ID = 3322][Question Description = Q07_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13285]
2. 2 [Option ID = 13286]
3. 3 [Option ID = 13287]
4. 4 [Option ID = 13288]
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[Question ID = 3323][Question Description = Q08_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13289]
2. 2 [Option ID = 13290]
3. 3 [Option ID = 13291]
4. 4 [Option ID = 13292]
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[Question ID = 3324][Question Description = Q09_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13293]
2. 2 [Option ID = 13294]
3. 3 [Option ID = 13295]
4. 4 [Option ID = 13296]
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[Question ID = 3325][Question Description = Q10_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13297]
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3. 3 [Option ID = 13299]
4. 4 [Option ID = 13300]
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[Question ID = 3326][Question Description = Q11_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13301]
2. 2 [Option ID = 13302]
3. 3 [Option ID = 13303]
4. 4 [Option ID = 13304]
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[Question ID = 3327][Question Description = Q12_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13305]
2. 2 [Option ID = 13306]
3. 3 [Option ID = 13307]
4. 4 [Option ID = 13308]
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[Question ID = 3328][Question Description = Q13_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13309]
2. 2 [Option ID = 13310]
3. 3 [Option ID = 13311]
4. 4 [Option ID = 13312]
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[Question ID = 3329][Question Description = Q14_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13313]
2. 2 [Option ID = 13314]
3. 3 [Option ID = 13315]
4. 4 [Option ID = 13316]
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[Question ID = 3330][Question Description = Q15_0Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13317]
2. 2 [Option ID = 13318]
3. 3 [Option ID = 13319]
4. 4 [Option ID = 13320]
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1. 1 [Option ID = 13321]
2. 2 [Option ID = 13322]
3. 3 [Option ID = 13323]
4. 4 [Option ID = 13324]
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1. 1 [Option ID = 13325]
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4. 4 [Option ID = 13328]
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1. 1 [Option ID = 13333]
2. 2 [Option ID = 13334]
3. 3 [Option ID = 13335]
4. 4 [Option ID = 13336]
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4. 4 [Option ID = 13348]
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4. 4 [Option ID = 13352]
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1. 1 [Option ID = 13353]
2. 2 [Option ID = 13354]
3. 3 [Option ID = 13355]
4. 4 [Option ID = 13356]
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4. 4 [Option ID = 13360]
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1. 1 [Option ID = 13361]
2. 2 [Option ID = 13362]
3. 3 [Option ID = 13363]
4. 4 [Option ID = 13364]
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[Question ID = 3342][Question Description = Q27_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13365]
2. 2 [Option ID = 13366]
3. 3 [Option ID = 13367]
4. 4 [Option ID = 13368]
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[Question ID = 3343][Question Description = Q28_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13369]
2. 2 [Option ID = 13370]
3. 3 [Option ID = 13371]
4. 4 [Option ID = 13372]
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1. 1 [Option ID = 13373]
2. 2 [Option ID = 13374]
3. 3 [Option ID = 13375]
4. 4 [Option ID = 13376]
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[Question ID = 3345][Question Description = Q30_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13377]
2. 2 [Option ID = 13378]
3. 3 [Option ID = 13379]
4. 4 [Option ID = 13380]
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[Question ID = 3346][Question Description = Q31_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13381]
2. 2 [Option ID = 13382]
3. 3 [Option ID = 13383]
4. 4 [Option ID = 13384]
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1. 1 [Option ID = 13385]
2. 2 [Option ID = 13386]
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4. 4 [Option ID = 13388]
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[Question ID = 3348][Question Description = Q33_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13389]
2. 2 [Option ID = 13390]
3. 3 [Option ID = 13391]
4. 4 [Option ID = 13392]
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1. 1 [Option ID = 13393]
2. 2 [Option ID = 13394]
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4. 4 [Option ID = 13396]
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[Question ID = 3350][Question Description = Q35_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13397]
2. 2 [Option ID = 13398]
3. 3 [Option ID = 13399]
4. 4 [Option ID = 13400]

Topic:- Odia_Set1_B

1)

RGeS aAgeRYE AI0as A= dg9eae aem G2 |

690G 6203 6RIQ 9o @ A8 6210 @ Al6a | 622 697 GIe AIRQIQ 626w, GRQRM EAIGHS! 2Ql AIRENR |
day 8ERQA AR 6AIR 6208 G919, F4I9 ORI SB6R 6 B9a 9T 66 | YT 69Ea AR FESIR
6dIgNG! gES0Iea, ged @aSla saiGNg! BR0ISA 2RIa @2l | BIGA 2IGA6R G4id | 3914 BIRa G968 2
| 6R66IC 9260 Q6YE IR GRE AITIEE BRRY ARG BISAAISE Ol GRlIL, QRIS QIG6a AA
calpela | sigaiaalial 696 6ale Bieey G8A 98, gaea 29l BA6!. 98 G6s aFaRel 80l 98 260egS.
64 9180 9941 66R @ CI6e, AAIdRIR AR @ AI6A| SIgR TEIA 6dIGNE! 9°09, FERS F196, YOR §1eR
64, 0¥ BIF-91% OFQIAI6g QIIQIN 62102 | 2l AR T | SAWIR TR TT | GAA GR6R FEM
e 999959 906 @8 581 AINdl JOIIR gERINGY IPETR. §F FI9R6a ZedE-g6edsa aRgs o
IRIgel 218, < JEE 62 THA O ULAIR @ 6219 16 A8 AR BB 6T, 191 FILAER §6 SR |

6065 o 696IQ erliena! ?

(1
)

ddl 6 gie (2) Qa9 ge awia SQIKea
driRea Blge Sald (4) 99 AUes SEGH

[Question ID = 3351][Question Description = Q36_Oriya_SHAAN_5DEC_S1_Shift1]
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[Question ID = 3352][Question Description = Q37_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13406]
2. 2 [Option ID = 13407]
3. 3 [Option ID = 13408]
4. 4 [Option ID = 13409]
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[Question ID = 3354][Question Description = Q39_Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13415]
2. 2 [Option ID = 13416]
3. 3 [Option ID = 13417]
4. 4 [Option ID = 13418]
5. 4 [Option ID = 13419]
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1. 1 [Option ID = 13420]
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4. 4 [Option ID = 13551]
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1. 1 [Option ID = 13568]
2. 2 [Option ID = 13569]
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[Question ID = 3410][Question Description = Q65_0Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13640]
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4. 4 [Option ID = 13651]
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4. 4 [Option ID = 13659]
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4. 4 [Option ID = 13675]
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4. 4 [Option ID = 13683]
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4. 4 [Option ID = 13451]
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4. 4 [Option ID = 13455]
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4. 4 [Option ID = 13459]
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